ACTIVITY 2.8





STUDENT:
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HOMEWORK
Try to resolve numerically the problem of the interactive activity in cases 1) and 2) and compare the results with results get them before. 

Instruction for case 1: observe that 
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=(1.4 , 2.65), called to the components of=(g1, g2), do the sum [image: image2.png]
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 and try to calculate g2. Can you calculate g1 with your knowledge? 


Instruction for case 2: observe that[image: image4.png]=1



=(1.91 , -3.52), called to the components of[image: image5.png]


=(f1, f 2), do the sum[image: image6.png]
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 and try to calculate f2. Why this result is unacceptable?
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